





### 設問 3

1.

$$\frac{\frac{(+ (s (s z)) z) \rightarrow (s (+ (s z) z))}{(+ (+ (s (s z)) z) (s z)) \rightarrow (+ (s (+ (s z) z)) (s z))}}{\frac{(+ (s z) z) \rightarrow (s (+ z z))}{(s (+ (s z) z)) \rightarrow (s (s (+ z z)))}}{(+ (s (+ (s z) z)) (s z)) \rightarrow (+ (s (s (+ z z))) (s z))}}$$

$$\frac{(+ (s (+ (s z) z)) (s z)) \rightarrow (s (+ (+ (s z) z) (s z)))}$$

$$[e_1, e_2] = [(+ (s (+ (s z) z)) (s z)), (+ (s (s (+ z z))) (s z))] \\ , [(+ (s (+ (s z) z)) (s z)), (s (+ (+ (s z) z) (s z)))]$$

2.

(i)  $n_1 = z$  のとき

$$\frac{(+ z n_2) \rightarrow n_2}{(+ z n_2) \rightarrow^+ n_2}$$

$n_3 = n_2$  と取れば  $n_3 \in N$  となり成立する。

(ii)  $n_1 = (s n')$  のとき

$n_1 = n'$  のときの成立を仮定することにより

$$\frac{\frac{(+ (s n') n_2) \rightarrow^+ (s (+ n' n_2))}{(+ (s n') n_2) \rightarrow^+ (s n'_3)} \quad \frac{(+ n' n_2) \rightarrow^+ n'_3}{(s (+ n' n_2)) \rightarrow^+ (s n'_3)}}{(+ (s n') n_2) \rightarrow^+ (s n'_3)}$$

$n_3 = (s n'_3)$  と取れば  $n_3 \in N$  となり成立する。

(i), (ii) により、題意は帰納的に証明された。